Dock Hardware Building Plans

Tie Down Dock Hardware is designed for use with 1-1/2" thick lumber (minimum width 6"). Standard Grade hardware is
mounted with 3/8" carriage bolts. Commercial Grade hardware is mounted with 1/2" carriage bolts. Male and female dock to
dock connections are made with either 3/4" bolts with lock nuts or 3/4" connecting pins.

Design Notes:

Tie Down assumes no responsibility or liability for the completeness or accuracy of these drawings. Drawings are provided

as a guideline only. Dimensions are approximate.

1. Variances do concur in lumber and component parts, so please check all measurements on dock hardware, float drums and
lumber prior to drilling holes. Verify all dimensions length, width and thickness of lumber.

2. Commercial docks may be reinforced with double side stringers. If double side stringers are used, 3” must be added to the
overall width of the dock including the deck boards. Carriage Bolt Sets must be altered accordingly.

3. As an option for side stringers, 2” x 10” and 2” x 12” lumber can be used. Should you use 3”x 8” or 3”x10” lumber as a
substitute, measurements of cross and end stringers along with fasteners must be altered accordingly.

4. With additional framing for support 2x decking can be attached width ways. Using anything less than 2x lumber will also
require additional support. Refer to main dock decking drawing for further details.

5. Refer to manufacturer’s floatation chart for recommended number of floats to be used if using anything other that a

2’x4’x16” or 3’x4’x16”.

Double Side

Stringer\
1 /2 ”x 5»

Carriage Bolts Inside
\ ~
) .

Corner
@‘(«m 0 ‘
% C /\

-
@ Washers &

— Nuts

0 s

(el g
Outsid/e\ , O w ©
Corner Ol & End @
. tringer @
& ;
cﬁ 1/2”x 3”

Carriage Bolts

Building Option for Commerical Docks

Back Up Plates (2)
can be subsituted
for inside corners

Inside

e Corner \ / @@

% )
@ Washers &

Outside
Corner

S
<> S
S

5 ‘

ﬁﬁ Carriage Bolts

Typical Corner Mounting

12




Dock Hardware Building Basics

13

Back Up Plate or (2) Washer Plates

Angle ¢ / -
Brackets Short = L4
Washer Plates Stringer A4
® m @ _Washers &
8 \ Nuts
‘

Sy

@m@@@
Cross

Washers &

o
Nuts
Stringer @ ‘)
. \
t Carriage Bolts
Typical Cross Stringer Mounting Typical Backing/Washer Plate Mounting
2”x 6” Under Dock

Cross Strigers

] L) [ ] ]
L] L] L] ]
0
i‘ . [ [

3/8”x 2” Lag Bolts \A
with Washers hd hd hd hd

Additional Floation Support




Dock Hardware Building Basics

o i o o o o o o |
Ramp Brackets Back Up Plates I s

(Left & Right) ; 11 T o g
Washer —>»

—>

Lag Bolt

<\

Float

2 lag bolt sets per
float side, 8 total

Typical Float Mounting

f Two screw nails on every cross member

L B .= Male
. .| Corner
Typical Rolling Ramp Installation ] /;, : :
g ( 2” x 6” Deck Boards j
Male Outside Corner —\ f Female Outside Corner
. |
q
ﬁ Hex Head Bolt Set (Connects Docks)
1-1 / 4;’
N[l —>» [<—1-1/4”
: Deck
i Owerlap
1/47 X
A >l 1147
Typical Dock To Dock Mounting Installation Deck Boards Installation

D 4






